

We have prepared a quote for you

City of Powder Springs/Getac/1

Quote # 009115 Version 1

Quote Prepared for:

City of Powder Springs Government-GA

Jason Holcombe jholcombe@cityofpowdersprings.org

Prepared by:

ProLogic ITS LLC

Melissa Sanchez 678-794-3924 Melissa.Sanchez@prologicits.com

ProL\sigic ITS

Products

Manufacturer Part Number	Description	Price	Qty	Ext. Price
OBABNQXFXXXX	VR-X20G3 for In-Car Video, supports up to 4 cameras - DVR(VR -X20G3)- Ultra5+8GB RAM+256GB SSD+2nd 256GB SSD , Blackbox Recording, Backup Battery, Crash Sensor, DVR mounting bracket, Display (CU-D50) - 5 Touch Display, includes cable (16ft), ZeroDark FHD I	\$3,624.19	4	\$14,496.76
GE-SVTREXT2Y	In Car Video Solution Extended Warranty - Year 4 & 5 - Getac, In Car Video Solution, Extended Warranty, 2, Year	\$359.80	4	\$1,439.20
OTX15X	BODY WORN CAMERA BLUETOOTH TRIGGER BOX, 5 YEAR WARRANTY	\$199.55	4	\$798.20
OLXOBX	Body Worn Camera USB Extension Cable for VD-02, 12.5 ft	\$18.90	4	\$75.60
ORB24X	Body Worn Camera (BC-02) - Single Port Dock (VD-02), dock ONLY	\$68.65	4	\$274.60
ORB39X	Body Worn Camera (BC-02), magnetic quick release charging USB cable	\$38.80	4	\$155.20
OUA04X	GETAC CLOUD - MONTHLY PLAN 4 (UNLIMITED)	\$46.36	48	\$2,225.28
OZX04X	Getac Video Solution - Remote Setup, Configuration, or Pre- Testing - Per day	\$1,280.73	1	\$1,280.73
590GBL001103	Airgain EZConnect MULTIMAX 5G 5in1 antenna: 2xCell/5G, 2xWi-Fi, 1xGNSS with 1 foot pigtail, Black	\$160.97	4	\$643.88
590GBL001105	Airgain EZConnect 5in1 cable harness, 2 Cell/5G, 2 Wi-Fi & GNSS, 19 feet, SMA on Cell/5G & GNSS, RP SMA on Wi-Fi	\$161.31	4	\$645.24
FLEETSERVICES	Installation includes the list of items mentioned herein. All other parts and or equipment not listed will be subject to additional installation fees.	\$435.75	4	\$1,743.00

Subtotal: \$23,777.69

ProLegic ITS

City of Powder Springs/Getac/1

Prepared for:

City of Powder Springs Government-GA

PO Box 46

4484 Marietta Street 4484 Marietta Street

Powder Springs, Georgia 30127-

0046

Jason Holcombe (770) 943-1616

jhol combe@city of powders prings.

org

Bill To:

City of Powder Springs Government-GA

Jason Holcombe PO Box 46

4484 Marietta Street 4484

Marietta Street

Powder Springs, Georgia 30127-

0046

Ship To:

City of Powder Springs Government-GA

Jason Holcombe PO Box 46

4484 Marietta Street 4484

Marietta Street

Powder Springs, Georgia 30127-

0046

Quote Information:

Quote #: 009115

Version: 1

Delivery Date: 10/04/2024 Expiration Date: 12/31/2024

Quote Summary

Description	Amount
Products	\$23,777.69

Total: \$23,777.69

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). A PO is required for orders exceeding \$10,000. Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you aretax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs

ProL\sic ITS

City of Powder Springs Government-GA